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NEW QUESTION 1
- (Exam Topic 3)

You have an Azure subscription that contains an Azure Synapse Analytics dedicated SQL pool named Pooll. Pooll receives new data once every 24 hours.

You have the following function.
create function dbo.udfFtoC(F

return decimal
as
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You have the following query.
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The query is executed once every 15 minutes and the @parameter value is set to the current date. You need to minimize the time it takes for the query to return

results.

Which two actions should you perform? Each correct answer presents part of the solution.

NOTE: Each correct selection is worth one point.

A. Create an index on the avg_f column.

B. Convert the avg_c column into a calculated column.
C. Create an index on the sensorid column.

D. Enable result set caching.

E. Change the table distribution to replicate.

Answer: BD

Explanation:

https://learn.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/performance-tuning-result-set-cac

NEW QUESTION 2
- (Exam Topic 3)

You have a self-hosted integration runtime in Azure Data Factory.

The current status of the integration runtime has the following configurations:

> Status: Running

> Type: Self-Hosted

> Version: 4.4.7292.1

> Running / Registered Node(s): 1/1
2 High Availability Enabled: False
> Linked Count: 0

> Queue Length: 0

> Average Queue Duration. 0.00s
The integration runtime has the following node details:

> Name: X-M

> Status: Running

> Version: 4.4.7292.1

> Available Memory: 7697MB

' CPU Utilization: 6%

> Network (In/Out): 1.21KBps/0.83KBps
> Concurrent Jobs (Running/Limit): 2/14
> Role: Dispatcher/Worker

> Credential Status: In Sync

Use the drop-down menus to select the answer choice that completes each statement based on the information presented.

NOTE: Each correct selection is worth one point.
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If the X-M node becomes unavailable, all
executed pipelines will:

The number of concurrent jobs and the
CPU usage indicate that the Concurrent
Jobs (Running/Limit) value should be:

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Box 1: fail until the node comes back online
We see: High Availability Enabled: False
Note: Higher availability of the self-hosted integration runtime so that it's no longer the single point of failure in your big data solution or cloud data integration with

Data Factory.
Box 2: lowered We see:

v

fail until the node comes back online
switch to another integration runtime
exceed the CPU limit

raised
lowered
left as is

Concurrent Jobs (Running/Limit): 2/14 CPU Utilization: 6%
Note: When the processor and available RAM aren't well utilized, but the execution of concurrent jobs reaches a node's limits, scale up by increasing the number
of concurrent jobs that a node can run

Reference:

https://docs.microsoft.com/en-us/azure/data-factory/create-self-hosted-integration-runtime

NEW QUESTION 3
- (Exam Topic 3)

You are designing a fact table named FactPurchase in an Azure Synapse Analytics dedicated SQL pool. The table contains purchases from suppliers for a retail
store. FactPurchase will contain the following columns.

Name Data type Nullable
PurchaseKey Bigint No
DateKey Int No
SupplierKey Int No
StockitemKey Int No
PurchaseOrderID Int Yes
OrderedQuantity Int No
OrderedQuters Int No
RecelivedQuters Int No
Package Nvarchar(50) No
[sOrderFinalized Bit No
LineageKey Int No
z:icl:)t/IIDurchase will have 1 million rows of data added daily and will contain three years of data. Transact-SQL queries similar to the following query will be executed
SELECT

SupplierKey, StockltemKey, COUNT(*) FROM FactPurchase
WHERE DateKey >= 20210101 AND DateKey <= 20210131
GROUP By SupplierKey, StockltemKey

Which table distribution will minimize query times?

A. round-robin
B. replicated
C. hash-distributed on DateKey

D. hash-distributed on PurchaseKey

Answer: D

Explanation:

Hash-distributed tables improve query performance on large fact tables, and are the focus of this article. Round-robin tables are useful for improving loading

speed.
Reference:
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https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/sql-data-warehouse-tables-distribu

NEW QUESTION 4

- (Exam Topic 3)

You have an Azure Databricks workspace that contains a Delta Lake dimension table named Tablet. Tablel is a Type 2 slowly changing dimension (SCD) table.
You need to apply updates from a source table to Tablel. Which Apache Spark SQL operation should you use?

A. CREATE
B. UPDATE
C. MERGE
D. ALTER

Answer: C

Explanation:

The Delta provides the ability to infer the schema for data input which further reduces the effort required in managing the schema changes. The Slowly Changing
Data(SCD) Type 2 records all the changes made to each key in the dimensional table. These operations require updating the existing rows to mark the previous
values of the keys as old and then inserting new rows as the latest values. Also, Given a source table with the updates and the target table with dimensional data,
SCD Type 2 can be expressed with the merge.

Example:

/I Implementing SCD Type 2 operation using merge function customersTable

as("customers") merge(

stagedUpdates.as("staged_updates"), "customers.customerld = mergeKey")

whenMatched("customers.current = true AND customers.address <> staged_updates.address”) updateExpr(Map(

"current" -> "false",

"endDate" -> "staged_updates.effectiveDate™)) whenNotMatched()

insertExpr(Map(

"customerid" -> "staged_updates.customerld”, "address" -> "staged_updates.address
"effectiveDate" -> "staged_updates.effectiveDate", "endDate" -> "null"))

execute()

}

Reference:
https://www.projectpro.io/recipes/what-is-slowly-changing-data-scd-type-2-operation-delta-table-databricks

, "current" -> "true”,

NEW QUESTION 5

- (Exam Topic 3)

You are monitoring an Azure Stream Analytics job by using metrics in Azure.

You discover that during the last 12 hours, the average watermark delay is consistently greater than the configured late arrival tolerance.
What is a possible cause of this behavior?

A. Events whose application timestamp is earlier than their arrival time by more than five minutes arrive as inputs.
B. There are errors in the input data.

C. The late arrival policy causes events to be dropped.

D. The job lacks the resources to process the volume of incoming data.

Answer: D

Explanation:
Watermark Delay indicates the delay of the streaming data processing job.
There are a number of resource constraints that can cause the streaming pipeline to slow down. The watermark delay metric can rise due to:

> Not enough processing resources in Stream Analytics to handle the volume of input events. To scale up
resources, see Understand and adjust Streaming Units.

> Not enough throughput within the input event brokers, so they are throttled. For possible solutions, see Automatically scale up Azure Event Hubs throughput
units.

> Output sinks are not provisioned with enough capacity, so they are throttled. The possible solutions vary widely based on the flavor of output service being
used.

Reference:

https://docs.microsoft.com/en-us/azure/stream-analytics/stream-analytics-time-handling

NEW QUESTION 6

- (Exam Topic 3)

You have an Azure Data Factory that contains 10 pipelines.

You need to label each pipeline with its main purpose of either ingest, transform, or load. The labels must be available for grouping and filtering when using the
monitoring experience in Data Factory.

What should you add to each pipeline?

A. aresource tag
B. a correlation ID
C. arun group ID
D. an annotation

Answer: D

Explanation:

Annotations are additional, informative tags that you can add to specific factory resources: pipelines, datasets, linked services, and triggers. By adding annotations,
you can easily filter and search for specific factory resources.

Reference:

https://www.cathrinewilhelmsen.net/annotations-user-properties-azure-data-factory/
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NEW QUESTION 7

- (Exam Topic 3)

You build a data warehouse in an Azure Synapse Analytics dedicated SQL pool.

Analysts write a complex SELECT query that contains multiple JOIN and CASE statements to transform data for use in inventory reports. The inventory reports will
use the data and additional WHERE parameters depending on the report. The reports will be produced once daily.

You need to implement a solution to make the dataset available for the reports. The solution must minimize query times.

What should you implement?

A. a materialized view

B. a replicated table

C. in ordered clustered columnstore index
D. result set chaching

Answer: A

Explanation:

Materialized views for dedicated SQL pools in Azure Synapse provide a low maintenance method for complex analytical queries to get fast performance without
any query change.

Note: When result set caching is enabled, dedicated SQL pool automatically caches query results in the user database for repetitive use. This allows subsequent
guery executions to get results directly from the persisted cache so recomputation is not needed. Result set caching improves query performance and reduces
compute resource usage. In addition, queries using cached results set do not use any concurrency slots and thus do not count against existing concurrency limits.
Reference:

https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/performance-tuning-materialized- https://docs.microsoft.com/en-us/azure/synapse-
analytics/sgl-data-warehouse/performance-tuning-result-set-cac

NEW QUESTION 8

- (Exam Topic 3)

You need to output files from Azure Data Factory.

Which file format should you use for each type of output? To answer, select the appropriate options in the
answer area.

NOTE: Each correct selection is worth one point.

Columnar format: v

Avro
GZip
Parquet
TXT

JSON with a timestamp: v
Avro

GZip

Parquet

TXT

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Box 1: Parquet

Parquet stores data in columns, while Avro stores data in a row-based format. By their very nature,

column-oriented data stores are optimized for read-heavy analytical workloads, while row-based databases are best for write-heavy transactional workloads.
Box 2: Avro

An Avro schema is created using JSON format. AVRO supports timestamps.

Note: Azure Data Factory supports the following file formats (not GZip or TXT).

> Avro format

> Binary format

> Delimited text format
> Excel format

> JSON format

> ORC format

> Parquet format

> XML format
Reference:
https://www.datanami.com/2018/05/16/big-data-file-formats-demystified

NEW QUESTION 9
- (Exam Topic 3)
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You have an enterprise data warehouse in Azure Synapse Analytics that contains a table named FactOnlineSales. The table contains data from the start of 2009
to the end of 2012.
You need to improve the performance of queries against FactOnlineSales by using table partitions. The solution must meet the following requirements:

> Create four partitions based on the order date.

> Ensure that each partition contains all the orders places during a given calendar year.
How should you complete the T-SQL command? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.

CREATE TABLE [dbo] .FactOnlineSales
([OnlineSalesKey] [int] NOT NULL,
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Text Description automatically generated

Range Left or Right, both are creating similar partition but there is difference in comparison For example: in this scenario, when you use LEFT and
20100101,20110101,20120101

Partition will be, datecol<=20100101, datecol>20100101 and datecol<=20110101, datecol>20110101 and datecol<=20120101, datecol>20120101
But if you use range RIGHT and 20100101,20110101,20120101

Partition will be, datecol<20100101, datecol>=20100101 and datecol<20110101, datecol>=20110101 and datecol<20120101, datecol>=20120101
In this example, Range RIGHT will be suitable for calendar comparison Jan 1st to Dec 31st Reference:
https://docs.microsoft.com/en-us/sql/t-sgl/statements/create-partition-function-transact-sql?view=sql-server-verl

NEW QUESTION 10

- (Exam Topic 3)

You are designing an Azure Synapse Analytics dedicated SQL pool.

You need to ensure that you can audit access to Personally Identifiable information (PIl). What should you include in the solution?

A. dynamic data masking
B. row-level security (RLS)
C. sensitivity classifications
D. column-level security

Answer: C

Explanation:

Data Discovery & Classification is built into Azure SQL Database, Azure SQL Managed Instance, and Azure Synapse Analytics. It provides basic capabilities for
discovering, classifying, labeling, and reporting the sensitive data in your databases.

Your most sensitive data might include business, financial, healthcare, or personal information. Discovering and classifying this data can play a pivotal role in your
organization's information-protection approach. It can serve as infrastructure for:

> Helping to meet standards for data privacy and requirements for regulatory compliance.
> Various security scenarios, such as monitoring (auditing) access to sensitive data.

> Controlling access to and hardening the security of databases that contain highly sensitive data.
Reference:
https://docs.microsoft.com/en-us/azure/azure-sql/database/data-discovery-and-classification-overview

NEW QUESTION 10

- (Exam Topic 3)

You have an Azure Data Factory pipeline named pipelinel that is invoked by a tumbling window trigger named Triggerl. Triggerl has a recurrence of 60 minutes.
You need to ensure that pipelinel will execute only if the previous execution completes successfully. How should you configure the self-dependency for Triggerl?

A. offset: "-00:01:00" size: "00:01:00"
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B. offset: "01:00:00" size: "-01:00:00"
C. offset: "01:00:00" size: "01:00:00"
D. offset: "-01:00:00" size: "01:00:00"

Answer: D

Explanation:

Tumbling window self-dependency properties

In scenarios where the trigger shouldn't proceed to the next window until the preceding window is successfully completed, build a self-dependency. A self-
dependency trigger that's dependent on the success of earlier runs of itself within the preceding hour will have the properties indicated in the following code.
Example code:

"name": "DemoSelfDependency”, "properties™: {

"runtimeState”: "Started”, "pipeline": { "pipelineReference": { "referenceName": "Dema", "type": "PipelineReference"”

}

3

"type": "TumblingWindowTrigger", "typeProperties”: {
"frequency": "Hour", "interval":; 1,

"startTime": "2018-10-04T00:00:00Z", "delay": "00:01:00",

"maxConcurrency": 50, "retryPolicy": { "intervallnSeconds": 30

}1

"dependsOn":

{

"type": "SelfDependencyTumblingWindowTriggerReference",
"size™ "01:00:00",

"offset": "-01:00:00"

g

eference: https://docs.microsoft.com/en-us/azure/data-factory/tumbling-window-trigger-dependency

NEW QUESTION 13

- (Exam Topic 3)

You have an Azure Synapse Analytics dedicated SQL pool named Pooll and a database named DB1. DB1 contains a fact table named Tablel.
You need to identify the extent of the data skew in Tablel. What should you do in Synapse Studio?

A. Connect to the built-in pool and run dbcc pdw_showspaceused.

B. Connect to the built-in pool and run dbcc checkalloc.

C. Connect to Pooll and query sys.dm_pdw_node_scacus.

D. Connect to Pooll and query sys.dm_pdw_nodes_db_partition_scacs.

Answer: A

Explanation:

A quick way to check for data skew is to use DBCC PDW_SHOWSPACEUSED. The following SQL code returns the number of table rows that are stored in each
of the 60 distributions. For balanced performance, the rows in your distributed table should be spread evenly across all the distributions.

DBCC PDW_SHOWSPACEUSED('dbo.FactinternetSales'); Reference:
https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/sql-data-warehouse-tables-distribu

NEW QUESTION 16

- (Exam Topic 3)

You are designing the folder structure for an Azure Data Lake Storage Gen2 account. You identify the following usage patterns:
* Users will query data by using Azure Synapse Analytics serverless SQL pools and Azure Synapse Analytics serverless Apache Spark pods.
» Most queries will include a filter on the current year or week.

« Data will be secured by data source.

You need to recommend a folder structure that meets the following requirements:

* Supports the usage patterns

« Simplifies folder security

* Minimizes query times

Which folder structure should you recommend?

A)

A. Option A
B. Option B
C. Option C
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D. Option D
E. Option E

Answer: C

Explanation:

Data will be secured by data source. -> Use DataSource as top folder.

Most queries will include a filter on the current year or week -> Use \YYYY\WW\ as subfolders. Common Use Cases

A common use case is to filter data stored in a date (and possibly time) folder structure such as

IYYYY/MM/DD/ or IYYYY/MM/YYYY-MM-DD/. As new data is generated/sent/copied/moved to the storage account, a new folder is created for each specific time
period. This strategy organises data into a maintainable folder structure.

Reference: https://www.serverlesssql.com/optimisation/azurestoragefilteringusingfilepath/

NEW QUESTION 21

- (Exam Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some question sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You plan to create an Azure Databricks workspace that has a tiered structure. The workspace will contain the following three workloads:

> A workload for data engineers who will use Python and SQL.
> A workload for jobs that will run notebooks that use Python, Scala, and SOL.

> A workload that data scientists will use to perform ad hoc analysis in Scala and R.
The enterprise architecture team at your company identifies the following standards for Databricks environments:

> The data engineers must share a cluster.

> The job cluster will be managed by using a request process whereby data scientists and data engineers provide packaged notebooks for deployment to the
cluster.

> All the data scientists must be assigned their own cluster that terminates automatically after 120 minutes of inactivity. Currently, there are three data scientists.
You need to create the Databricks clusters for the workloads.

Solution: You create a Standard cluster for each data scientist, a Standard cluster for the data engineers, and a High Concurrency cluster for the jobs.

Does this meet the goal?

A. Yes
B. No

Answer: B

Explanation:

We need a High Concurrency cluster for the data engineers and the jobs.

Note: Standard clusters are recommended for a single user. Standard can run workloads developed in any language: Python, R, Scala, and SQL.

A high concurrency cluster is a managed cloud resource. The key benefits of high concurrency clusters are that they provide Apache Spark-native fine-grained
sharing for maximum resource utilization and minimum query latencies.

Reference: https://docs.azuredatabricks.net/clusters/configure.html

NEW QUESTION 24

- (Exam Topic 3)

You are building an Azure Stream Analytics job to identify how much time a user spends interacting with a feature on a webpage.

The job receives events based on user actions on the webpage. Each row of data represents an event. Each event has a type of either 'start' or ‘end'.
You need to calculate the duration between start and end events.

How should you complete the query? To answer, select the appropriate options in the answer area. NOTE: Each correct selection is worth one point.

A. Mastered
B. Not Mastered

Answer: A
Explanation:
Box 1: DATEDIFF

DATEDIFF function returns the count (as a signed integer value) of the specified datepart boundaries crossed between the specified startdate and enddate.
Syntax: DATEDIFF ( datepart , startdate, enddate ) Box 2: LAST
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The LAST function can be used to retrieve the last event within a specific condition. In this example, the condition is an event of type Start, partitioning the search
by PARTITION BY user and feature. This way, every user and feature is treated independently when searching for the Start event. LIMIT DURATION limits the
search back in time to 1 hour between the End and Start events.

Example: SELECT

[user], feature, DATEDIFF(

second,

LAST(Time) OVER (PARTITION BY [user], feature LIMIT DURATION(hour,

1) WHEN Event = 'start’), Time) as duration

FROM input TIMESTAMP BY Time WHERE

Event = 'end' Reference:

https://docs.microsoft.com/en-us/azure/stream-analytics/stream-analytics-stream-analytics-query-patterns

NEW QUESTION 28

- (Exam Topic 3)

You have a SQL pool in Azure Synapse.

You plan to load data from Azure Blob storage to a staging table. Approximately 1 million rows of data will be loaded daily. The table will be truncated before each
daily load.

You need to create the staging table. The solution must minimize how long it takes to load the data to the staging table.

How should you configure the table? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.

Distribution: v
Hash
Replicated
Round-robin
Indexing: v
Clustered
Clustered columnstore
Heap
Partitioning v
Date
None
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Graphical user interface, application, table Description automatically generated

Box 1: Hash

Hash-distributed tables improve query performance on large fact tables. They can have very large numbers of rows and still achieve high performance.
Box 2: Clustered columnstore

When creating partitions on clustered columnstore tables, it is important to consider how many rows belong to each partition. For optimal compression and
performance of clustered columnstore tables, a minimum of 1 million rows per distribution and partition is needed.

Box 3: Date

Table partitions enable you to divide your data into smaller groups of data. In most cases, table partitions are created on a date column.

Partition switching can be used to quickly remove or replace a section of a table. Reference:
https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/sql-data-warehouse-tables-partitio https://docs.microsoft.com/en-us/azure/synapse-
analytics/sql-data-warehouse/sql-data-warehouse-tables-distribu

NEW QUESTION 33

- (Exam Topic 3)

You are designing a partition strategy for a fact table in an Azure Synapse Analytics dedicated SQL pool. The table has the following specifications:
 Contain sales data for 20,000 products.

* Use hash distribution on a column named ProduclID,

« Contain 2.4 billion records for the years 2019 and 2020.

Which number of partition ranges provides optimal compression and performance of the clustered columnstore index?

A. 40

B. 240
C. 400
D. 2,400

Answer: A

Explanation:

Each partition should have around 1 millions records. Dedication SQL pools already have 60 partitions.

We have the formula: Records/(Partitions*60)= 1 million Partitions= Records/(1 million * 60)

Partitions= 2.4 x 1,000,000,000/(1,000,000 * 60) = 40

Note: Having too many partitions can reduce the effectiveness of clustered columnstore indexes if each partition has fewer than 1 million rows. Dedicated SQL
pools automatically partition your data into 60 databases. So, if you create a table with 100 partitions, the result will be 6000 partitions.

Reference:
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https://docs.microsoft.com/en-us/azure/synapse-analytics/sql/best-practices-dedicated-sql-pool

NEW QUESTION 38

- (Exam Topic 3)

You have two fact tables named Flight and Weather. Queries targeting the tables will be based on the join between the following columns.
[ Table ] Column

I 1 valdumaori|

You need to recommend a solution that maximum query performance. What should you include in the recommendation?

A. In each table, create a column as a composite of the other two columns in the table.
B. In each table, create an IDENTITY column.

C. In the tables, use a hash distribution of ArriveDateTime and ReportDateTime.

D. In the tables, use a hash distribution of ArriveAirPortID and AirportID.

Answer: D

NEW QUESTION 40

- (Exam Topic 3)

You are developing a solution that will stream to Azure Stream Analytics. The solution will have both streaming data and reference data.
Which input type should you use for the reference data?

A. Azure Cosmos DB
B. Azure Blob storage
C. Azure loT Hub

D. Azure Event Hubs

Answer: B

Explanation:

Stream Analytics supports Azure Blob storage and Azure SQL Database as the storage layer for Reference Data.
Reference:

https://docs.microsoft.com/en-us/azure/stream-analytics/stream-analytics-use-reference-data

NEW QUESTION 45

- (Exam Topic 3)

You plan to develop a dataset named Purchases by using Azure databricks Purchases will contain the following columns:
* ProductID

* ltemPrice

* lineTotal

* Quantity

* StorelD

* Minute

* Month

* Hour

* Year

* Day

You need to store the data to support hourly incremental load pipelines that will vary for each StorelD. the solution must minimize storage costs. How should you
complete the rode? To answer, select the appropriate options In the answer area.

NOTE: Each correct selection is worth one point.

if .write

AN v

A. Mastered
B. Not Mastered
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Answer: A

Explanation:

Box 1: partitionBy
We should overwrite at the partition level. Example: df.write.partitionBy("y","m","d") mode(SaveMode.Append)
parquet("/data/hive/warehouse/db_name.db/" + tableName) Box 2: ("StorelD", "Year", "Month", "Day", "Hour", "StorelD") Box 3: parquet("/Purchases")

Reference:
https://intellipaat.com/community/11744/how-to-partition-and-write-dataframe-in-spark-without-deleting-partiti

NEW QUESTION 50

- (Exam Topic 3)
You have an Azure subscription that contains an Azure Synapse Analytics workspace named workspacel. Workspacel contains a dedicated SQL pool named

SQL Pool and an Apache Spark pool named sparkpool. Sparkpooll contains a DataFrame named pyspark.df.
You need to write the contents of pyspark_df to a tabte in SQLPooM by using a PySpark notebook. How should you complete the code? To answer, select the

appropriate options in the answer area. NOTE: Each correct selection is worth one point.

Answer Arca
park_at Fate ReglaceTanpiie pysparkdftemptable”
oLl parh . valContent . sal pelect * from pysparkdtesptable
Park _
1l | i - “sgipoall.dt PyioarkTable™, Comstants. DNTERMAL
jihi
} i 1-||||-|'
preesa
A. Mastered
B. Not Mastered
Answer: A
Explanation:
Answer Area
e L ratel-ReplaceTempyle pisparkdftemptable”
.
T
i pare . tallontent  2q. telect T Trom | parkdt tesptable
i1 :
I l . ' “sqlpoall.dbo.PyiparkTable™, Comstanty. INTERNAL

NEW QUESTION 54
- (Exam Topic 3)
You are implementing Azure Stream Analytics windowing functions.
Which windowing function should you use for each requirement? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.
Answer Area

egment the data stream into distingl time
egments thal repeal but do not overlan: [Haominag |
(3 |Hopping
[ ting |
|' LImEMinG i
egment the data stream into distinet Hiime
Lgments that repeat and can averlap |- 1t
i ot LE S| &
1
l |
imbling |
I ] 1atad g2am To wdu utout

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy DP-203 dumps
https://lwww.2passeasy.com/dumps/DP-203/ (247 New Questions)

@ 2passeasy

Answer Area
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NEW QUESTION 55

- (Exam Topic 3)

You have a SQL pool in Azure Synapse.

You discover that some queries fail or take a long time to complete. You need to monitor for transactions that have rolled back.
Which dynamic management view should you query?

A. sys.dm_pdw_request_steps

B. sys.dm_pdw_nodes_tran_database_transactions
C. sys.dm_pdw_waits

D. sys.dm_pdw_exec_sessions

Answer: B

Explanation:

You can use Dynamic Management Views (DMVs) to monitor your workload including investigating query execution in SQL pool.
If your queries are failing or taking a long time to proceed, you can check and monitor if you have any transactions rolling back.
Example:

-- Monitor rollback SELECT

SUM(CASE WHEN t.database_transaction_next_undo_Isn IS NOT NULL THEN 1 ELSE 0 END), t.pdw_node_id,

nod.[type]

FROM sys.dm_pdw_nodes_tran_database_transactions t

JOIN sys.dm_pdw_nodes nod ON t.pdw_node_id = nod.pdw_node_id GROUP BY t.pdw_node_id, nod.[type]

Reference:

https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/sql-data-warehouse-manage-monit

NEW QUESTION 59
- (Exam Topic 3)
You have the following table named Employees.

first_name | last_name | hire_date employee_type
Jane Doe 2019-08-23 | new
Ben Smith 2017-12-15 | Standard

You need to calculate the employee_type value based on the hire_date value.

How should you complete the Transact-SQL statement? To answer, drag the appropriate values to the correct targets. Each value may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.

NOTE: Each correct selection is worth one point.

Values Answer Area
SELECT
CASE
WHEN hire date »>= '‘201%-01-01' THEN ‘New'
ELSE =
"Standard’
OVER
END AS employee_type
PARTITION BY FROM
ROW_NUMBER employeeas

A. Mastered
B. Not Mastered

Answer: A
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Explanation:

Graphical user interface, text, application Description automatically generated

Box 1: CASE

CASE evaluates a list of conditions and returns one of multiple possible result expressions.
CASE can be used in any statement or clause that allows a valid expression. For example, you can use CASE in statements such as SELECT, UPDATE, DELETE
and SET, and in clauses such as select_list, IN, WHERE, ORDER BY, and HAVING.
Syntax: Simple CASE expression: CASE input_expression

WHEN when_expression THEN result_expression [ ...n ] [ ELSE else_result_expression ]
END

Box 2: ELSE

Reference:

https://docs.microsoft.com/en-us/sql/t-sgl/language-elements/case-transact-sql

NEW QUESTION 60

- (Exam Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some question sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this scenario, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You have an Azure Storage account that contains 100 GB of files. The files contain text and numerical values. 75% of the rows contain description data that has
an average length of 1.1 MB.

You plan to copy the data from the storage account to an enterprise data warehouse in Azure Synapse Analytics.

You need to prepare the files to ensure that the data copies quickly. Solution: You convert the files to compressed delimited text files. Does this meet the goal?

A. Yes
B. No

Answer: A

Explanation:

All file formats have different performance characteristics. For the fastest load, use compressed delimited text files.
Reference:

https://docs.microsoft.com/en-us/azure/sql-data-warehouse/guidance-for-loading-data

NEW QUESTION 65

- (Exam Topic 3)

You have an Azure data solution that contains an enterprise data warehouse in Azure Synapse Analytics named DW1.

Several users execute ad hoc queries to DW1 concurrently. You regularly perform automated data loads to DW1.

You need to ensure that the automated data loads have enough memory available to complete quickly and successfully when the adhoc queries run.
What should you do?

A. Hash distribute the large fact tables in DW1 before performing the automated data loads.
B. Assign a smaller resource class to the automated data load queries.

C. Assign a larger resource class to the automated data load queries.

D. Create sampled statistics for every column in each table of DW1.

Answer: C

Explanation:

The performance capacity of a query is determined by the user's resource class. Resource classes are

pre-determined resource limits in Synapse SQL pool that govern compute resources and concurrency for query execution.

Resource classes can help you configure resources for your queries by setting limits on the number of queries that run concurrently and on the compute-resources
assigned to each query. There's a trade-off between memory and concurrency.

Smaller resource classes reduce the maximum memory per query, but increase concurrency. Larger resource classes increase the maximum memory per query,
but reduce concurrency. Reference:

https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/resource-classes-for-workload-ma

NEW QUESTION 67

- (Exam Topic 3)

From a website analytics system, you receive data extracts about user interactions such as downloads, link clicks, form submissions, and video plays.
The data contains the following columns.

Name Sample value
Date 15 Jan 2021
EventCategory Videos
EventAction Play
EventLabel Contoso Promotional
ChannelGrouping Social
TotalEvents 150
UnigueEvents 120
SessionWithEvents | 99

You need to design a star schema to support analytical queries of the data. The star schema will contain four tables including a date dimension.
To which table should you add each column? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.
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EventCategory W
DimChannel
DimDate
DimEvent
FactEvents

ChannelGrouping b

DimChannel
DimDate
DimEvent
FactEvents

TotalEvents: v
DimChannel
DimDate
DimEvent
FactEvents

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Table Description automatically generate

Box 1: DimEvent

Box 2: DimChannel

Box 3: FactEvents

Fact tables store observations or events, and can be sales orders, stock balances, exchange rates, temperatures, etc
Reference:

https://docs.microsoft.com/en-us/power-bi/guidance/star-schema

NEW QUESTION 72

- (Exam Topic 3)

You have an Azure Data Lake Storage Gen2 account named adls2 that is protected by a virtual network. You are designing a SQL pool in Azure Synapse that will
use adlIs2 as a source.

What should you use to authenticate to adls2?

A. a shared access signature (SAS)

B. a managed identity

C. a shared key

D. an Azure Active Directory (Azure AD) user

Answer: B

Explanation:

Managed identity for Azure resources is a feature of Azure Active Directory. The feature provides Azure services with an automatically managed identity in Azure
AD. You can use the Managed Identity capability to authenticate to any service that support Azure AD authentication.

Managed ldentity authentication is required when your storage account is attached to a VNet. Reference:
https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/quickstart-bulk-load-copy-tsgl-exa

NEW QUESTION 76

- (Exam Topic 3)

You have an Azure Data Factory instance named ADF1 and two Azure Synapse Analytics workspaces named WS1 and WS2.
ADF1 contains the following pipelines:

> P1: Uses a copy activity to copy data from a nonpartitioned table in a dedicated SQL pool of WS1 to an Azure Data Lake Storage Gen2 account

> P2: Uses a copy activity to copy data from text-delimited files in an Azure Data Lake Storage Gen2 account to a nonpartitioned table in a dedicated SQL pool of
WS2

You need to configure P1 and P2 to maximize parallelism and performance.

Which dataset settings should you configure for the copy activity if each pipeline? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.
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P1: 4
Set the Copy method to Bulk insert

Set the Copy method to PolyBase

Set the Isolation level to Repeatable read

Set the Partition option to Dynamic range

P2: I 4
Set the Copy method to Bulk insert

Set the Copy method to PolyBase

Set the Isolation level to Repeatable read

Set the Partition option to Dynamic range

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Box 1: Set the Copy method to PolyBase

While SQL pool supports many loading methods including non-Polybase options such as BCP and SQL BulkCopy API, the fastest and most scalable way to load
data is through PolyBase. PolyBase is a technology that accesses external data stored in Azure Blob storage or Azure Data Lake Store via the T-SQL language.
Box 2: Set the Copy method to Bulk insert

Polybase not possible for text files. Have to use Bulk insert. Reference:

https://docs.microsoft.com/en-us/azure/synapse-analytics/sql/load-data-overview

NEW QUESTION 79

- (Exam Topic 3)

You need to trigger an Azure Data Factory pipeline when a file arrives in an Azure Data Lake Storage Gen2 container.
Which resource provider should you enable?

A. Microsoft.Sql

B. Microsoft-Automation
C. Microsoft.EventGrid
D. Microsoft.EventHub

Answer: C

Explanation:

Event-driven architecture (EDA) is a common data integration pattern that involves production, detection, consumption, and reaction to events. Data integration
scenarios often require Data Factory customers to trigger pipelines based on events happening in storage account, such as the arrival or deletion of a file in Azure
Blob Storage account. Data Factory natively integrates with Azure Event Grid, which lets you trigger pipelines on such events.

Reference:

https://docs.microsoft.com/en-us/azure/data-factory/how-to-create-event-trigger https://docs.microsoft.com/en-us/azure/data-factory/concepts-pipeline-execution-
triggers

NEW QUESTION 83

- (Exam Topic 3)

You have a SQL pool in Azure Synapse that contains a table named dbo.Customers. The table contains a column name Email.

You need to prevent nonadministrative users from seeing the full email addresses in the Email column. The users must see values in a format of
aXXX@XXXX.com instead.

What should you do?

A. From Microsoft SQL Server Management Studio, set an email mask on the Email column.

B. From the Azure portal, set a mask on the Email column.

C. From Microsoft SQL Server Management studio, grant the SELECT permission to the users for all the columns in the dbo.Customers table except Email.
D. From the Azure portal, set a sensitivity classification of Confidential for the Email column.

Answer: D

Explanation:

From Microsoft SQL Server Management Studio, set an email mask on the Email column. This is because "This feature cannot be set using portal for Azure
Synapse (use PowerShell or REST API) or SQL Managed Instance.” So use Create table statement with Masking e.g. CREATE TABLE Membership (MemberID
int IDENTITY PRIMARY KEY, FirstName varchar(100) MASKED WITH (FUNCTION = "partial(1,"XXXXXXX",0)") NULL, . .
https://docs.microsoft.com/en-us/azure/azure-sql/database/dynamic-data-masking-overview

upvoted 24 times

NEW QUESTION 87

- (Exam Topic 3)

You have an Azure Data Lake Storage Gen2 account that contains a JSON file for customers. The file contains two attributes named FirstName and LastName.
You need to copy the data from the JSON file to an Azure Synapse Analytics table by using Azure Databricks. A new column must be created that concatenates
the FirstName and LastName values.
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You create the following components:
> A destination table in Azure Synapse
> An Azure Blob storage container

> A service principal
In which order should you perform the actions? To answer, move the appropriate actions from the list of actions to the answer area and arrange them in the correct
order.

Actions Answer Area

'Mount the Data Lake Storage onto DBFS.
Write the results to a table in Azure Synapse.

Specify a temporary folder to stage the data.
Read the file into a data frame.

| Perform transformations on the data frame.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Table Description automatically generated

Step 1: Mount the Data Lake Storage onto DBFS

Begin with creating a file system in the Azure Data Lake Storage Gen2 account. Step 2: Read the file into a data frame.

You can load the json files as a data frame in Azure Databricks. Step 3: Perform transformations on the data frame.

Step 4: Specify a temporary folder to stage the data

Specify a temporary folder to use while moving data between Azure Databricks and Azure Synapse. Step 5: Write the results to a table in Azure Synapse.
You upload the transformed data frame into Azure Synapse. You use the Azure Synapse connector for Azure Databricks to directly upload a dataframe as a table
in a Azure Synapse.

Reference:

https://docs.microsoft.com/en-us/azure/azure-databricks/databricks-extract-load-sql-data-warehouse

NEW QUESTION 91

- (Exam Topic 3)

You have an Azure Active Directory (Azure AD) tenant that contains a security group hamed Groupl. You have an Azure Synapse Analytics dedicated SQL pool
named dw1 that contains a schema named schemal.

You need to grant Groupl read-only permissions to all the tables and views in schemal. The solution must use the principle of least privilege.

Which three actions should you perform in sequence? To answer, move the appropriate actions from the list of actions to the answer area and arrange them in the
correct order.

NOTE: More than one order of answer choices is correct. You will receive credit for any of the correct orders you select.

Actions Answer Area

Create a database role named Rolel and grant Rolel
SELECT permissions to schemal.

Create a database role named Rolel and grant Rolel
SELECT permissions to dwl.

Assign the Azure role-based access control (Azure
RBAC) Reader role for dwl to Groupl.

Create a database user in dwl that represents Groupl
and uses the FROM EXTERNAL PROVIDER clause.

Assign Rolel to the Groupl database user.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Step 1: Create a database role named Rolel and grant Rolel SELECT permissions to schema You need to grant Groupl read-only permissions to all the tables
and views in schemal.

Place one or more database users into a database role and then assign permissions to the database role. Step 2: Assign Roll to the Group database user

Step 3: Assign the Azure role-based access control (Azure RBAC) Reader role for dwl to Groupl Reference:
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https://docs.microsoft.com/en-us/azure/data-share/how-to-share-from-sql

NEW QUESTION 95

- (Exam Topic 3)

You need to implement an Azure Databricks cluster that automatically connects to Azure Data Lake Storage Gen2 by using Azure Active Directory (Azure AD)
integration.

How should you configure the new cluster? To answer, select the appropriate options in the answer area. NOTE: Each correct selection is worth one point.

Cluster Mode: A 4

High Concurrency
Premium
Standard

Advanced option to enable: A 4

Azure Data Lake Storage Gen1 Credential Passthrough
Table Access Control

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Box 1: High Concurrency

Enable Azure Data Lake Storage credential passthrough for a high-concurrency cluster. Incorrect:

Support for Azure Data Lake Storage credential passthrough on standard clusters is in Public Preview.

Standard clusters with credential passthrough are supported on Databricks Runtime 5.5 and above and are limited to a single user.

Box 2: Azure Data Lake Storage Genl Credential Passthrough

You can authenticate automatically to Azure Data Lake Storage Genl and Azure Data Lake Storage Gen2 from Azure Databricks clusters using the same Azure
Active Directory (Azure AD) identity that you use to log into Azure Databricks. When you enable your cluster for Azure Data Lake Storage credential passthrough,
commands that you run on that cluster can read and write data in Azure Data Lake Storage without requiring you to configure service principal credentials for
access to storage.

References:

https://docs.azuredatabricks.net/spark/latest/data-sources/azure/adls-passthrough.html

NEW QUESTION 97
- (Exam Topic 3)
You have an Azure Synapse Analytics dedicated SQL pool named Pooll that contains a table named Sales. Sales has row-level security (RLS) applied. RLS uses
the following predicate filter.
CREATE FUNCTION Security.fn_securitypredicate(@SalesRep AS sysname)
RETURNS TABLE
WITH SCHEMABINDING

AS
RETURN SELECT 1 AS fn_securitypredicate result
WHERE @SalesRep = USER_MNAME() OR USER_NAME() "Manager ' ;
A user named SalesUser1 is assiagned the db _datareader role for Pool1.

A user named SalesUser1 is assigned the db_datareader role for Pooll. Which rows in the Sales table are returned when SalesUserl queries the table?

A. only the rows for which the value in the User_Name column is SalesUserl
B. all the rows

C. only the rows for which the value in the SalesRep column is Manager

D. only the rows for which the value in the SalesRep column is SalesUserl

Answer: C

NEW QUESTION 101

- (Exam Topic 3)

You have an Azure Synapse Analytics dedicated SQL pool named Pooll and a database named DB1. DB1 contains a fact table named Tablel.
You need to identify the extent of the data skew in Tablel. What should you do in Synapse Studio?

A. Connect to the built-in pool and query sysdm_pdw_sys_info.

B. Connect to Pooll and run DBCC CHECKALLOC.

C. Connect to the built-in pool and run DBCC CHECKALLOC.

D. Connect to Pool! and query sys.dm_pdw_nodes_db_partition_stats.

Answer: D

Explanation:
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Microsoft recommends use of sys.dm_pdw_nodes_db_partition_stats to analyze any skewness in the data. Reference:
https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/cheat-sheet

NEW QUESTION 104

- (Exam Topic 3)

You are planning the deployment of Azure Data Lake Storage Gen2. You have the following two reports that will access the data lake:
> Reportl: Reads three columns from a file that contains 50 columns.

> Report2: Queries a single record based on a timestamp.
You need to recommend in which format to store the data in the data lake to support the reports. The solution must minimize read times.
What should you recommend for each report? To answer, select the appropriate options in the answer area. NOTE: Each correct selection is worth one point.

Report1: v

Avro
CSV
Parquet
1SV

Report2: v

Avro
CSV
Parquet
TSV

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Reportl: CSV

CSV: The destination writes records as delimited data. Report2: AVRO

AVRO supports timestamps.

Not Parquet, TSV: Not options for Azure Data Lake Storage Gen2. Reference:
https://streamsets.com/documentation/datacollector/latest/help/datacollector/UserGuide/Destinations/ADLS-G2

NEW QUESTION 105

- (Exam Topic 3)

You build an Azure Data Factory pipeline to move data from an Azure Data Lake Storage Gen2 container to a database in an Azure Synapse Analytics dedicated
SQL pool.

Data in the container is stored in the following folder structure.

n{YYYYY{MMY{DD}Y{HH}{mm}

The earliest folder is /in/2021/01/01/00/00. The latest folder is /in/2021/01/15/01/45. You need to configure a pipeline trigger to meet the following requirements:

> Existing data must be loaded.
> Data must be loaded every 30 minutes.

> Late-arriving data of up to two minutes must he included in the load for the time at which the data
should have arrived.
How should you configure the pipeline trigger? To answer, select the appropriate options in the answer area. NOTE: Each correct selection is worth one point.

Type: v
Event

On-demand

Schedule

Tumbling window

Additional properties: v

Prefix: /in/, Event: Blob created

Recurrence: 30 minutes, Start time: 2021-01-01T00:00

Recurrence: 30 minutes, Start time: 2021-01-01T00:00, Delay: 2 minutes
Recurrence: 32 minutes, Start time: 2021-01-15T01:45

A. Mastered
B. Not Mastered

Answer: A
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Explanation:

Box 1: Tumbling window

To be able to use the Delay parameter we select Tumbling window. Box 2:

Recurrence: 30 minutes, not 32 minutes

Delay: 2 minutes.

The amount of time to delay the start of data processing for the window. The pipeline run is started after the expected execution time plus the amount of delay. The
delay defines how long the trigger waits past the due time before triggering a new run. The delay doesn't alter the window startTime.

Reference:

https://docs.microsoft.com/en-us/azure/data-factory/how-to-create-tumbling-window-trigger

NEW QUESTION 109

- (Exam Topic 3)

You have an enterprise-wide Azure Data Lake Storage Gen2 account. The data lake is accessible only through an Azure virtual network named VNET1.

You are building a SQL pool in Azure Synapse that will use data from the data lake.

Your company has a sales team. All the members of the sales team are in an Azure Active Directory group named Sales. POSIX controls are used to assign the
Sales group access to the files in the data lake.

You plan to load data to the SQL pool every hour.

You need to ensure that the SQL pool can load the sales data from the data lake.

Which three actions should you perform? Each correct answer presents part of the solution. NOTE: Each area selection is worth one point.

A. Add the managed identity to the Sales group.

B. Use the managed identity as the credentials for the data load process.

C. Create a shared access signature (SAS).

D. Add your Azure Active Directory (Azure AD) account to the Sales group.

E. Use the snared access signature (SAS) as the credentials for the data load process.
F. Create a managed identity.

Answer: ADF

Explanation:

The managed identity grants permissions to the dedicated SQL pools in the workspace.

Note: Managed identity for Azure resources is a feature of Azure Active Directory. The feature provides Azure services with an automatically managed identity in
Azure AD Reference:

https://docs.microsoft.com/en-us/azure/synapse-analytics/security/synapse-workspace-managed-identity

NEW QUESTION 114

- (Exam Topic 3)

You are performing exploratory analysis of the bus fare data in an Azure Data Lake Storage Gen2 account by using an Azure Synapse Analytics serverless SQL
pool.

You execute the Transact-SQL query shown in the following exhibit.

L
B
i
(|
Pt
Bt
(i |
i
I
[

==

What do the query results include?

A. Only CSV files in the tripdata_2020 subfolder.

B. All files that have file names that beginning with “tripdata_2020".

C. All CSV files that have file names that contain "tripdata_2020".

D. Only CSV that have file names that beginning with "tripdata_2020".

Answer: D
NEW QUESTION 115

- (Exam Topic 3)
You have an Apache Spark DataFrame named temperatures. A sample of the data is shown in the following table.
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Date Temp
18-01-2021 | 3
19-01-2021 (4
20-01-2021 | 2
21-01-2021 | 2

You need to produce the following table by using a Spark SQL query.

Year JAN FEB MAR APR MAY
2019 2.3 4 1 9.2 76 92
2020 24 42 49 78 9.1
2021 26 9.3 34 79 9.5

How should you complete the query? To answer, drag the appropriate values to the correct targets. Each value may be used once, more than once, or not at all.
You may need to drag the split bar between panes or scroll to view content.
NOTE: Each correct selection is worth one point.

Values Answer Area

SELECT * FROM (|

SELECT YEAR (Date) Year, MONTH (Date) Month, Temp
pu FROM temperatures
- WHERE date BETWEEN DATE ‘2015-01-01' AND DATE ‘2021-08-31'
COLLATE|

AVG | (Temp AS DECIMAL (4, 1)))

FOR Month in (
PIVCT 1 JaN, 2 FEB, 3 MAR, 4 APR, 5 MAY, & JUN,
7 JUL, 8 AUG, 9 SEP, 10 OCT, 11 NOV, 12 DEC
UNPIVOT )
)
ORDER BY Year ASC

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Text Description automatically generated

Box 1: PIVOT

PIVOT rotates a table-valued expression by turning the unique values from one column in the expression into multiple columns in the output. And PIVOT runs
aggregations where they're required on any remaining column values that are wanted in the final output.

Reference:

https://learnsgl.com/cookbook/how-to-convert-an-integer-to-a-decimal-in-sql-server/ https://docs.microsoft.com/en-us/sql/t-sgl/queries/from-using-pivot-and-unpivot

NEW QUESTION 117

- (Exam Topic 3)

You are creating a new notebook in Azure Databricks that will support R as the primary language but will also support Scale and SOL Which switch should you use
to switch between languages?

A. @<Language>
B. %<Language>

C. \\(<Language>)
D. \\(<Language>)

Answer: B

Explanation:

To change the language in Databricks’ cells to either Scala, SQL, Python or R, prefix the cell with ‘%’, followed by the language.
%python //or r, scala, sql

Reference:

https://www.theta.co.nz/news-blogs/tech-blog/enhancing-digital-twins-part-3-predictive-maintenance-with-azur

NEW QUESTION 121
- (Exam Topic 3)
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You have an Azure Synapse Analytics SQL pool named Pooll on a logical Microsoft SQL server named Serverl.
You need to implement Transparent Data Encryption (TDE) on Pooll by using a custom key named keyl. Which five actions should you perform in sequence? To
answer, move the appropriate actions from the list of actions to the answer area and arrange them in the correct order.

Actions Answer Area

Enable TDE on Pooll

Assign a managed identity to Server1

Configure key1 as the TDE protector for Server1

O
©

Add key1 to the Azure key vault

Create an Azure key vault and grant the managed
identity permissions to the key vault

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Graphical user interface, text, application Description automatically generated

Step 1: Assign a managed identity to Serverl

You will need an existing Managed Instance as a prerequisite.

Step 2: Create an Azure key vault and grant the managed identity permissions to the vault Create Resource and setup Azure Key Vault.
Step 3: Add keyl to the Azure key vault

The recommended way is to import an existing key from a .pfx file or get an existing key from the vault. Alternatively, generate a new key directly in Azure Key
Vault.

Step 4: Configure key1 as the TDE protector for Serverl Provide TDE Protector key

Step 5: Enable TDE on Pooll Reference:
https://docs.microsoft.com/en-us/azure/azure-sgl/managed-instance/scripts/transparent-data-encryption-byok-po

NEW QUESTION 124

- (Exam Topic 3)

You are monitoring an Azure Stream Analytics job.

The Backlogged Input Events count has been 20 for the last hour. You need to reduce the Backlogged Input Events count.
What should you do?

A. Drop late arriving events from the job.

B. Add an Azure Storage account to the job.
C. Increase the streaming units for the job.
D. Stop the job.

Answer: C

Explanation:
General symptoms of the job hitting system resource limits include:

> If the backlog event metric keeps increasing, it's an indicator that the system resource is constrained (either because of output sink throttling, or high CPU).
Note: Backlogged Input Events: Number of input events that are backlogged. A non-zero value for this metric implies that your job isn't able to keep up with the
number of incoming events. If this value is slowly increasing or consistently non-zero, you should scale out your job: adjust Streaming Units.

Reference:

https://docs.microsoft.com/en-us/azure/stream-analytics/stream-analytics-scale-jobs https://docs.microsoft.com/en-us/azure/stream-analytics/stream-analytics-
monitoring

NEW QUESTION 126

- (Exam Topic 3)

You need to create an Azure Data Factory pipeline to process data for the following three departments at your company: Ecommerce, retail, and wholesale. The
solution must ensure that data can also be processed for the entire company.

How should you complete the Data Factory data flow script? To answer, drag the appropriate values to the correct targets. Each value may be used once, more
than once, or not at all. You may need to drag the split bar between panes or scroll to view content.

NOTE: Each correct selection is worth one point.
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Values Answer Area
all, ecommerce, retail, wholesale CleanData
split

dept==‘ecommerce’, dept=='retail’,
dept=='wholesale

FEe Ny Sy o - o R .
depi=="aCommerce , depl==

ralaa ' ~} — P10
‘wholesale’, dept==‘retail

0 %

disjoint: false

) ~> SplitByDept@( ]

disjoint: true
ecommerce, retail, wholesale, all
A. Mastered

B. Not Mastered
Answer: A

Explanation:

The conditional split transformation routes data rows to different streams based on matching conditions. The conditional split transformation is similar to a CASE
decision structure in a programming language. The transformation evaluates expressions, and based on the results, directs the data row to the specified stream.
Box 1: dept=="ecommerce’, dept=="retail’, dept=="wholesale’

First we put the condition. The order must match the stream labeling we define in Box 3. Syntax:

<incomingStream> split(

<conditionalExpression1>

<conditionalExpression2> disjoint: {true | false}

) ~> <splitTx>@(stream1, streamz, ..., <defaultStream>)

Box 2: discount : false

disjoint is false because the data goes to the first matching condition. All remaining rows matching the third condition go to output stream all.

Box 3: ecommerce, retail, wholesale, all Label the streams

Reference:

https://docs.microsoft.com/en-us/azure/data-factory/data-flow-conditional-split

NEW QUESTION 130

- (Exam Topic 3)

You need to implement a Type 3 slowly changing dimension (SCD) for product category data in an Azure Synapse Analytics dedicated SQL pool.
You have a table that was created by using the following Transact-SQL statement.

CREATE TABLE [DBQ]. [DimProduct] (

[ProductRey] [int] IDENTITY(1l,1) NOT NULL,
[ProductSourceID] [int] NOT NULL,
[ProductName] [nvarchar] (100) NULL,
[Color] [nwvarchar] (15) NULL,
[SellStartDate] [date] NOT NULL,
[SellEndDate] [date] NULL,

[RowInsertedDateTime] [datetime] NOT NULL,
[RowUpdatedDateTime] [datetime] NOT NULL,
[ETLAuditID] [int] NOT NULL

)

Which two columns should you add to the table? Each correct answer presents part of the solution.
NOTE: Each correct selection is worth one point.

A. [EffectiveScarcDate] [datetime] NOT NULL,

B. [CurrentProduccCacegory] [nvarchar] (100) NOT NULL,
C. [EffectiveEndDace] [dacecime] NULL,

D. [ProductCategory] [nvarchar] (100) NOT NULL,

E. [OriginalProduccCacegory] [nvarchar] (100) NOT NULL,

Answer: BE

Explanation:

A Type 3 SCD supports storing two versions of a dimension member as separate columns. The table includes a column for the current value of a member plus
either the original or previous value of the member. So Type 3 uses additional columns to track one key instance of history, rather than storing additional rows to
track each change like in a Type 2 SCD.

This type of tracking may be used for one or two columns in a dimension table. It is not common to use it for many members of the same table. It is often used in
combination with Type 1 or Type 2 members.

Graphical user interface, application, email Description automatically generated
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Reference:
https://k21academy.com/microsoft-azure/azure-data-engineer-dp203-g-a-day-2-live-session-review/

NEW QUESTION 132

- (Exam Topic 3)

You have an Azure Stream Analytics query. The query returns a result set that contains 10,000 distinct values for a column named clusterID.
You monitor the Stream Analytics job and discover high latency. You need to reduce the latency.

Which two actions should you perform? Each correct answer presents a complete solution. NOTE: Each correct selection is worth one point.

A. Add a pass-through query.

B. Add a temporal analytic function.

C. Scale out the query by using PARTITION BY.
D. Convert the query to a reference query.

E. Increase the number of streaming units.

Answer: CE

Explanation:

C: Scaling a Stream Analytics job takes advantage of partitions in the input or output. Partitioning lets you divide data into subsets based on a partition key. A
process that consumes the data (such as a Streaming Analytics job) can consume and write different partitions in parallel, which increases throughput.

E: Streaming Units (SUs) represents the computing resources that are allocated to execute a Stream Analytics job. The higher the number of SUs, the more CPU
and memory resources are allocated for your job. This capacity lets you focus on the query logic and abstracts the need to manage the hardware to run your
Stream Analytics job in a timely manner.

References:

https://docs.microsoft.com/en-us/azure/stream-analytics/stream-analytics-parallelization https://docs.microsoft.com/en-us/azure/stream-analytics/stream-analytics-
streaming-unit-consumption

NEW QUESTION 135

- (Exam Topic 3)

A company has a real-time data analysis solution that is hosted on Microsoft Azure. The solution uses Azure Event Hub to ingest data and an Azure Stream
Analytics cloud job to analyze the data. The cloud job is configured to use 120 Streaming Units (SU).

You need to optimize performance for the Azure Stream Analytics job.

Which two actions should you perform? Each correct answer presents part of the solution.

NOTE: Each correct selection is worth one point.

A. Implement event ordering.

B. Implement Azure Stream Analytics user-defined functions (UDF).
C. Implement query parallelization by partitioning the data output.
D. Scale the SU count for the job up.

E. Scale the SU count for the job down.

F. Implement query parallelization by partitioning the data input.

Answer: DF

Explanation:
Reference:
https://docs.microsoft.com/en-us/azure/stream-analytics/stream-analytics-parallelization

NEW QUESTION 139

- (Exam Topic 3)

You are designing a solution that will copy Parquet files stored in an Azure Blob storage account to an Azure Data Lake Storage Gen2 account.

The data will be loaded daily to the data lake and will use a folder structure of {Year}/{Month}/{Day}/. You need to design a daily Azure Data Factory data load to
minimize the data transfer between the two accounts.

Which two configurations should you include in the design? Each correct answer presents part of the solution. NOTE: Each correct selection is worth one point.

A. Delete the files in the destination before loading new data.
B. Filter by the last modified date of the source files.

C. Delete the source files after they are copied.

D. Specify a file naming pattern for the destination.

Answer: BD
Explanation:
Copy data from one place to another. The requirements are : 1- need to minimize transfert and 2- need to adapte data to the destination folder structure. Filter on

LastModifiedDate will copy everything that have changed since the latest load while minimizing the data transfert. Specifying the file naming pattern allows to copy
data at the right place to the destination Data Lake.

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy DP-203 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/DP-203/ (247 New Questions)

NEW QUESTION 141

- (Exam Topic 3)

You plan to create a table in an Azure Synapse Analytics dedicated SQL pool.

Data in the table will be retained for five years. Once a year, data that is older than five years will be deleted. You need to ensure that the data is distributed evenly
across partitions. The solution must minimize the

amount of time required to delete old data.

How should you complete the Transact-SQL statement? To answer, drag the appropriate values to the correct targets. Each value may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.

NOTE: Each correct selection is worth one point.

Values Answer Area
) ‘RI dbo] . [FactSales]
Customerkey (
[ProductKey]
HASH p [OrderDateKay]
. [CustomerKevy]
ROUND ROBIN : [SalesOrderiumber] { 20 )
, [OrderQuantity
REPLICATE F LUnitPrice]
)
OrderDatekey '
- (
SalesOrderNumber| DISTRIBUTION = Value ([ProductKey])
P ARTITION [ Value ] EANGE RIGHT FOR WVAI
(20170101,20180101,201%0101,20200101,20210101)
)
)
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Box 1: HASH

Box 2: OrderDateKey

In most cases, table partitions are created on a date column.

A way to eliminate rollbacks is to use Metadata Only operations like partition switching for data management. For example, rather than execute a DELETE
statement to delete all rows in a table where the order_date was in October of 2001, you could partition your data early. Then you can switch out the partition with
data for an empty partition from another table.

Reference:

https://docs.microsoft.com/en-us/sql/t-sgl/statements/create-table-azure-sqgl-data-warehouse https://docs.microsoft.com/en-us/azure/synapse-analytics/sql/best-
practices-dedicated-sql-pool

NEW QUESTION 142

- (Exam Topic 3)

You have several Azure Data Factory pipelines that contain a mix of the following types of activities.

* Wrangling data flow

* Notebook

* Copy

* jar

Which two Azure services should you use to debug the activities? Each correct answer presents part of the solution NOTE: Each correct selection is worth one
point.

A. Azure HDInsight

B. Azure Databricks

C. Azure Machine Learning
D. Azure Data Factory

E. Azure Synapse Analytics

Answer: CE

NEW QUESTION 146

- (Exam Topic 3)

You have an Azure Synapse Analytics Apache Spark pool named Pool1l.

You plan to load JSON files from an Azure Data Lake Storage Gen2 container into the tables in Pooll. The structure and data types vary by file.

You need to load the files into the tables. The solution must maintain the source data types. What should you do?

A. Use a Get Metadata activity in Azure Data Factory.
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B. Use a Conditional Split transformation in an Azure Synapse data flow.
C. Load the data by using the OPEHROwset Transact-SQL command in an Azure Synapse Anarytics serverless SQL pool.
D. Load the data by using PySpark.

Answer: A

Explanation:

Serverless SQL pool can automatically synchronize metadata from Apache Spark. A serverless SQL pool database will be created for each database existing in
serverless Apache Spark pools.

Serverless SQL pool enables you to query data in your data lake. It offers a T-SQL query surface area that accommodates semi-structured and unstructured data
queries.

To support a smooth experience for in place querying of data that's located in Azure Storage files, serverless SQL pool uses the OPENROWSET function with
additional capabilities.

The easiest way to see to the content of your JSON file is to provide the file URL to the OPENROWSET function, specify csv FORMAT.

Reference:

https://docs.microsoft.com/en-us/azure/synapse-analytics/sqgl/query-json-files https://docs.microsoft.com/en-us/azure/synapse-analytics/sql/query-data-storage

NEW QUESTION 148
- (Exam Topic 3)
You have an Azure Data Lake Storage Gen2 account named accountl that stores logs as shown in the following table.

Type Designated retention period
Application 360 days
Infrastructure 60 days

You do not expect that the logs will be accessed during the retention periods.
You need to recommend a solution for accountl that meets the following requirements:

> Automatically deletes the logs at the end of each retention period

> Minimizes storage costs
What should you include in the recommendation? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.

fo minimize storage costs: \4
Store the infrastructure logs and the application logs in the Archive access tier

Store the infrastructure logs and the application logs in the Cool access tier

Store the infrastructure logs in the Cool access tier and the application logs in the Archive access tier

To delete logs automatically: 4

Azure Data Factory pipelines
Azure Blob storage lifecycle management rules
Immutable Azure Blob storage time-based retention policies

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Table Description automatically generated

Box 1: Store the infrastructure logs in the Cool access tier and the application logs in the Archive access tier For infrastructure logs: Cool tier - An online tier
optimized for storing data that is infrequently accessed or

modified. Data in the cool tier should be stored for a minimum of 30 days. The cool tier has lower storage costs and higher access costs compared to the hot tier.
For application logs: Archive tier - An offline tier optimized for storing data that is rarely accessed, and that has flexible latency requirements, on the order of hours.
Data in the archive tier should be stored for a minimum of 180 days.

Box 2: Azure Blob storage lifecycle management rules

Blob storage lifecycle management offers a rule-based policy that you can use to transition your data to the desired access tier when your specified conditions are
met. You can also use lifecycle management to expire data at the end of its life.

Reference:

https://docs.microsoft.com/en-us/azure/storage/blobs/access-tiers-overview

NEW QUESTION 151

- (Exam Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some guestion sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You have an Azure Storage account that contains 100 GB of files. The files contain rows of text and numerical values. 75% of the rows contain description data
that has an average length of 1.1 MB.

You plan to copy the data from the storage account to an enterprise data warehouse in Azure Synapse Analytics.

You need to prepare the files to ensure that the data copies quickly. Solution: You copy the files to a table that has a columnstore index. Does this meet the goal?

A. Yes
B. No
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Answer: B

Explanation:
Instead convert the files to compressed delimited text files. Reference:
https://docs.microsoft.com/en-us/azure/sql-data-warehouse/guidance-for-loading-data

NEW QUESTION 152

- (Exam Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some question sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You are designing an Azure Stream Analytics solution that will analyze Twitter data.

You need to count the tweets in each 10-second window. The solution must ensure that each tweet is counted only once.

Solution: You use a session window that uses a timeout size of 10 seconds. Does this meet the goal?

A. Yes
B. No

Answer: A

Explanation:

Instead use a tumbling window. Tumbling windows are a series of fixed-sized, non-overlapping and contiguous
time intervals. Reference:
https://docs.microsoft.com/en-us/stream-analytics-query/tumbling-window-azure-stream-analytics

NEW QUESTION 156
- (Exam Topic 3)
You use PySpark in Azure Databricks to parse the following JSON input.

You need to output the data in the following tabular format.

| owred age | dag
=il |
¥ = 4

i

4
| ileal . —
How should you complete the PySpark code? To answer, drag the appropriate values to he correct targets. Each value may be used once, more than once or not
at all. You may need to drag the split bar between panes or scroll to view content.
NOTE: Each correct selection is worth one point.

Wt Ardwer Ated

] '] § .
1 st L) i ¥ | sl ld ¥ IER™ |

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Graphical user interface, text, application Description automatically generated

Box 1: select

Box 2: explode

Bop 3: alias

pyspark.sgl.Column.alias returns this column aliased with a new name or names (in the case of expressions that return more than one column, such as explode).
Reference: https://spark.apache.org/docs/latest/api/python/reference/api/pyspark.sgl.Column.alias.html https://docs.microsoft.com/en-
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us/azure/databricks/sgl/language-manual/functions/explode

NEW QUESTION 157

- (Exam Topic 3)

You have an Azure SQL database named Databasel and two Azure event hubs named HubA and HubB. The data consumed from each source is shown in the
following table.

Source Data
Databasel Driver's name
Driver's license number
HubA Ride route

Ride distance
Ride duration
HubB Ride fare

Ride payment

You need to implement Azure Stream Analytics to calculate the average fare per mile by driver.
How should you configure the Stream Analytics input for each source? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.

HubA: -

Stream

Reference
HubB: w

Stream
Reference

Databasel: v

Stream
Reference

A. Mastered
B. Not Mastered

Answer: A

Explanation:

HubA: Stream HubB: Stream

Databasel: Reference

Reference data (also known as a lookup table) is a finite data set that is static or slowly changing in nature, used to perform a lookup or to augment your data
streams. For example, in an 10T scenario, you could store metadata about sensors (which don’t change often) in reference data and join it with real time loT data
streams. Azure Stream Analytics loads reference data in memory to achieve low latency stream processing

Reference:

https://docs.microsoft.com/en-us/azure/stream-analytics/stream-analytics-use-reference-data

NEW QUESTION 161

- (Exam Topic 3)

You have an Azure subscription that contains an Azure Databricks workspace. The workspace contains a

notebook named Notebookl. In Notebook1, you create an Apache Spark DataFrame named df_sales that contains the following columns:
» Customer

* Salesperson

* Region

* Amount

You need to identify the three top performing salespersons by amount for a region named HQ.

How should you complete the query? To answer, drag the appropriate values to the correct targets. Each value may be used once, more than once, or not at all.
You may need to drag the split bar between panes or scroll to view content.
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Values Answer Area
agt plesPerion ples. Tilter|col( "Reglon’ jus ")
r 1 "SalesPeran Sgp| Sum| dmeunt ) .allss Limit(}
Tata]limsunt’
grovgh alerhe
EroupBy(col( TotslAscunt
rderBy (col] " Totalamsount
ardertydese( “Totalimsunt
A. Mastered

B. Not Mastered
Answer: A

Explanation:
Values Answer Area

NEW QUESTION 166

- (Exam Topic 3)

You have an Azure Databricks workspace named workspace! in the Standard pricing tier. Workspacel contains an all-purpose cluster named cluster). You need to
reduce the time it takes for cluster 1 to start and scale up. The solution must minimize costs. What should you do first?

A. Upgrade workspace! to the Premium pricing tier.
B. Create a cluster policy in workspacel.

C. Create a pool in workspacel.

D. Configure a global init script for workspacel.

Answer: C

Explanation:

You can use Databricks Pools to Speed up your Data Pipelines and Scale Clusters Quickly.

Databricks Pools, a managed cache of virtual machine instances that enables clusters to start and scale 4 times faster.
Reference:

https://databricks.com/blog/2019/11/11/databricks-pools-speed-up-data-pipelines.html

NEW QUESTION 168

- (Exam Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some question sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these questions will not appear in the review screen.

You plan to create an Azure Databricks workspace that has a tiered structure. The workspace will contain the following three workloads:

> A workload for data engineers who will use Python and SQL.
> A workload for jobs that will run notebooks that use Python, Scala, and SOL.

> A workload that data scientists will use to perform ad hoc analysis in Scala and R.
The enterprise architecture team at your company identifies the following standards for Databricks environments:

> The data engineers must share a cluster.

> The job cluster will be managed by using a request process whereby data scientists and data engineers provide packaged notebooks for deployment to the
cluster.

> All the data scientists must be assigned their own cluster that terminates automatically after 120 minutes of inactivity. Currently, there are three data scientists.
You need to create the Databricks clusters for the workloads.

Solution: You create a Standard cluster for each data scientist, a High Concurrency cluster for the data engineers, and a Standard cluster for the jobs.

Does this meet the goal?

A. Yes
B. No
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Answer: B

Explanation:

We would need a High Concurrency cluster for the jobs. Note:

Standard clusters are recommended for a single user. Standard can run workloads developed in any language: Python, R, Scala, and SQL.

A high concurrency cluster is a managed cloud resource. The key benefits of high concurrency clusters are that they provide Apache Spark-native fine-grained
sharing for maximum resource utilization and minimum query latencies.

Reference: https://docs.azuredatabricks.net/clusters/configure.html

NEW QUESTION 171

- (Exam Topic 3)

You have an enterprise data warehouse in Azure Synapse Analytics named DWL1 on a server named Serverl. You need to determine the size of the transaction
log file for each distribution of DW1.

What should you do?

A. On DW1, execute a query against the sys.database_files dynamic management view.

B. From Azure Monitor in the Azure portal, execute a query against the logs of DW1.

C. Execute a query against the logs of DW1 by using theGet-AzOperationallnsightsSearchResult PowerShell cmdlet.

D. On the master database, execute a query against the sys.dm_pdw_nodes_os_performance_counters dynamic management view.

Answer: A

Explanation:

For information about the current log file size, its maximum size, and the autogrow option for the file, you can also use the size, max_size, and growth columns for
that log file in sys.database_files.

Reference:

https://docs.microsoft.com/en-us/sqgl/relational-databases/logs/manage-the-size-of-the-transaction-log-file

NEW QUESTION 173
- (Exam Topic 3)
You are designing a monitoring solution for a fleet of 500 vehicles. Each vehicle has a GPS tracking device that sends data to an Azure event hub once per
minute.
You have a CSV file in an Azure Data Lake Storage Gen2 container. The file maintains the expected geographical area in which each vehicle should be.
You need to ensure that when a GPS position is outside the expected area, a message is added to another event hub for processing within 30 seconds. The
solution must minimize cost.
What should you include in the solution? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.

Service: v

=2

An Azure Synapse Analytics Apache Spark pool
An Azure Synapse Analytics serverless SQL pool
Azure Data Factory

Azure Stream Analytics

Window: v
Hopping
No window
Session
Tumbling
Analysis type: v

Event pattern matching
Lagged record comparison
Point within polygon
Polygon overlap

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Box 1: Azure Stream Analytics Box 2: Hopping

Hopping window functions hop forward in time by a fixed period. It may be easy to think of them as Tumbling windows that can overlap and be emitted more often
than the window size. Events can belong to more than one Hopping window result set. To make a Hopping window the same as a Tumbling window, specify the
hop size to be the same as the window size.

Box 3: Point within polygon Reference:

https://docs.microsoft.com/en-us/azure/stream-analytics/stream-analytics-window-functions

NEW QUESTION 175

- (Exam Topic 3)

You plan to create an Azure Data Factory pipeline that will include a mapping data flow. You have JSON data containing objects that have nested arrays.
You need to transform the JSON-formatted data into a tabular dataset. The dataset must have one tow for each item in the arrays.
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Which transformation method should you use in the mapping data flow?

A. unpivot

B. flatten

C. new branch
D. alter row

Answer: B

Explanation:

Use the flatten transformation to take array values inside hierarchical structures such as JSON and unroll them into individual rows. This process is known as
denormalization.

Reference:

https://docs.microsoft.com/en-us/azure/data-factory/data-flow-flatten

NEW QUESTION 176

- (Exam Topic 3)

You are designing a highly available Azure Data Lake Storage solution that will include geo-zone-redundant storage (GZRS).

You need to monitor for replication delays that can affect the recovery point objective (RPO). What should you include in the monitoring solution?

A. availability

B. Average Success E2E Latency
C. 5xx: Server Error errors

D. Last Sync Time

Answer: D

Explanation:

Because geo-replication is asynchronous, it is possible that data written to the primary region has not yet been written to the secondary region at the time an
outage occurs. The Last Sync Time property indicates the last time that data from the primary region was written successfully to the secondary region. All writes
made to the primary region before the last sync time are available to be read from the secondary location. Writes made to the primary region after the last sync
time property may or may not be available for reads yet.

Reference:

https://docs.microsoft.com/en-us/azure/storage/common/last-sync-time-get

NEW QUESTION 180

- (Exam Topic 3)

You are designing a dimension table for a data warehouse. The table will track the value of the dimension attributes over time and preserve the history of the data
by adding new rows as the data changes.

Which type of slowly changing dimension (SCD) should use?

A. Type O
B. Type 1
C.Type 2
D. Type 3

Answer: C

Explanation:

Type 2 - Creating a new additional record. In this methodology all history of dimension changes is kept in the database. You capture attribute change by adding a
new row with a new surrogate key to the dimension table. Both the prior and new rows contain as attributes the natural key(or other durable identifier). Also
‘effective date' and 'current indicator' columns are used in this method. There could be only one record with current indicator set to 'Y'. For 'effective date' columns,
i.e. start_date and end_date, the end_date for current record usually is set to value 9999-12-31. Introducing changes to the dimensional model in type 2 could be
very expensive database operation so it is not recommended to use it in dimensions where a new attribute could be added in the future.
https://www.datawarehouse4u.info/SCD-Slowly-Changing-Dimensions.html

NEW QUESTION 181

- (Exam Topic 3)

You have a Microsoft SQL Server database that uses a third normal form schema.

You plan to migrate the data in the database to a star schema in an Azure Synapse Analytics dedicated SQI pool.

You need to design the dimension tables. The solution must optimize read operations.

What should you include in the solution? to answer, select the appropriate options in the answer area. NOTE: Each correct selection is worth one point.

Transform data for the dimension tables by: v
Maintaining to a third normal form l
Normalizing to a fourth normal form !
Denormalizing to a second normal form

For the primary key columns in the dimension tables, use: I _ Vv
New IDENTITY columns
A new computed column
The business key column from the source sys

A. Mastered
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B. Not Mastered
Answer: A
Explanation:

Text, table Description automatically generated
Box 1: Denormalize to a second normal form

Denormalization is the process of transforming higher normal forms to lower normal forms via storing the join of higher normal form relations as a base relation.

Denormalization increases the performance in data retrieval at cost of bringing update anomalies to a database.
Box 2: New identity columns

The collapsing relations strategy can be used in this step to collapse classification entities into component entities to obtain at dimension tables with single-part

keys that connect directly to the fact table. The single-part key is a surrogate key generated to ensure it remains unique over time.

Example:
Diagram Description automatically generated

i - _— F“‘:ﬁ'ﬁ"’*x o ¥ DimCustomer

DimDate & g
o v Customeriey
T Datekey
LustomerNumber
5qiDate

CustomerCity

DayMNumberOfWeek

CustomerState

DayMumberCiftonth &
Il
DimProduct

¥ ProductKey

DayMNumberCfyear
WeeldMumberOfvear
MonthNumberOf'ear

ProductMNumber
C ‘!"-:nd-”::\.l.ilf'lgl

ProductDescription
CalendarYesr

UnitPrice
CalendarSemester

Note: A surrogate key on a table is a column with a unique identifier for each row. The key is not generated

from the table data. Data modelers like to create surrogate keys on their tables when they design data warehouse models. You can use the IDENTITY property to

achieve this goal simply and effectively without affecting load performance.
Reference:

https://www.mssqltips.com/sqlservertip/56 14/explore-the-role-of-normal-forms-in-dimensional-modeling/ https://docs.microsoft.com/en-us/azure/synapse-

analytics/sql-data-warehouse/sql-data-warehouse-tables-identity

NEW QUESTION 182
- (Exam Topic 3)

You have an Azure subscription that contains an Azure Synapse Analytics dedicated SQL pool named SQLPool1.

SQLPooll is currently paused.
You need to restore the current state of SQLPooll to a new SQL pool. What should you do first?

A. Create a workspace.

B. Create a user-defined restore point.
C. Resume SQLPooll.

D. Create a new SQL pool.

Answer: B

Explanation:
Reference:
https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/sql-data-warehouse-restore-active

NEW QUESTION 186

- (Exam Topic 3)

You are designing an Azure Synapse Analytics dedicated SQL pool.

Groups will have access to sensitive data in the pool as shown in the following table.

Name Enhanced access
Executives No access to sensitive data
Analysts Access to in-region sensitive data
Engineers Access to all numeric sensitive data
You have policies for the sensitive data. The policies vary be region as shown in the following table.
Region Data considered sensitive
RegionA Financial, Personally Identifiable Information (PI)
RegionB Financial, Personally Identifiable Information (PIl), medical
RegionC Financial medical

You have a table of patients for each region. The tables contain the following potentially sensitive columns.
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Name Sensitive data Description
CardOnFile | Financial Debit/credit card number for charges
Height Medical Patient’s heightin cm
ContactEmail | Pl Email address for secure communications

You are designing dynamic data masking to maintain compliance.
For each of the following statements, select Yes if the statement is true. Otherwise, select No.
NOTE: Each correct selection is worth one point.

Statements Yes No

Analysts in RegionA require dynamic data O O
masking rules for [Patients RegionA].

Engineers in RegionC require a dynamic data O O
masking rule for [Patients_RegionA], [Height]

Engineers in RegionB require a dynamic data O O
masking rule for [Patients_RegionB], [Height]

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Text Description automatically generated

Reference:
https://docs.microsoft.com/en-us/azure/azure-sql/database/dynamic-data-masking-overview

NEW QUESTION 189

- (Exam Topic 3)

You have an Azure Synapse Analytics dedicated SQL pool that contains a large fact table. The table contains 50 columns and 5 billion rows and is a heap.
Most queries against the table aggregate values from approximately 100 million rows and return only two columns.

You discover that the queries against the fact table are very slow. Which type of index should you add to provide the fastest query times?

A. nonclustered columnstore
B. clustered columnstore

C. nonclustered

D. clustered

Answer: B

Explanation:

Clustered columnstore indexes are one of the most efficient ways you can store your data in dedicated SQL pool.
Columnstore tables won't benefit a query unless the table has more than 60 million rows. Reference:
https://docs.microsoft.com/en-us/azure/synapse-analytics/sql/best-practices-dedicated-sql-pool

NEW QUESTION 190

- (Exam Topic 3)

You have an Azure subscription that contains an Azure Synapse Analytics workspace named workspacel. Workspacel connects to an Azure DevOps repository
named repol. Repol contains a collaboration branch named main and a development branch named branchl. Branchl contains an Azure Synapse pipeline
named pipelinel.

In workspacel, you complete testing of pipelinel. You need to schedule pipelinel to run daily at 6 AM.

Which four actions should you perform in sequence? To answer, move the appropriate actions from the list of actions to the answer area and arrange them in the
correct order.

NOTE: More than one order of answer choices is correct. You will receive credit for any of the correct orders you select.
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Actions Answer Area

Create a new branch in Repol.

Merge the changes from branchl into main.

Associate the schedule trigger with pipelinel.

O®

Switch to Synapse live mode.

Create a schedule trigger.

Publish the contents of main.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Timeline Description automatically generated

NEW QUESTION 195

- (Exam Topic 3)

You are designing a date dimension table in an Azure Synapse Analytics dedicated SQL pool. The date dimension table will be used by all the fact tables.
Which distribution type should you recommend to minimize data movement?

A. HASH
B. REPLICATE
C. ROUND ROBIN

Answer: B

Explanation:

A replicated table has a full copy of the table available on every Compute node. Queries run fast on replicated tables since joins on replicated tables don't require
data movement. Replication requires extra storage, though, and isn't practical for large tables.

Reference:

https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/sql-data-warehouse-tables-overvie

NEW QUESTION 200

- (Exam Topic 3)

You are designing an Azure Data Lake Storage Gen2 structure for telemetry data from 25 million devices distributed across seven key geographical regions. Each
minute, the devices will send a JSON payload of metrics to Azure Event Hubs.

You need to recommend a folder structure for the data. The solution must meet the following requirements:

> Data engineers from each region must be able to build their own pipelines for the data of their respective region only.

> The data must be processed at least once every 15 minutes for inclusion in Azure Synapse Analytics serverless SQL pools.

How should you recommend completing the structure? To answer, drag the appropriate values to the correct targets. Each value may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.

NOTE: Each correct selection is worth one point.

Values Answer Area

/ Value / Value / Value json
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A. Mastered
B. Not Mastered

Answer: A

Explanation:

Box 1: {YYYY}{MM}/{DD}{HH}

Date Format [optional]: if the date token is used in the prefix path, you can select the date format in which your files are organized. Example: YYYY/MM/DD
Time Format [optional]: if the time token is used in the prefix path, specify the time format in which your files are organized. Currently the only supported value is
HH.

Box 2: {regionID}/raw

Data engineers from each region must be able to build their own pipelines for the data of their respective region only.

Box 3: {devicelD} Reference:

https://github.com/paolosalvatori/StreamAnalyticsAzureDatalakeStore/blob/master/README.md

NEW QUESTION 204

- (Exam Topic 3)

The storage account container view is shown in the Refdata exhibit. (Click the Refdata tab.) You need to configure the Stream Analytics job to pick up the new
reference data. What should you configure? To answer, select the appropriate options in the answer area NOTE: Each correct selection is worth one point.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Answer as below

Answer Area

NEW QUESTION 209

- (Exam Topic 3)

You have two Azure Data Factory instances named ADFdev and ADFprod. ADFdev connects to an Azure DevOps Git repository.

You publish changes from the main branch of the Git repository to ADFdev. You need to deploy the artifacts from ADFdev to ADFprod.
What should you do first?

A. From ADFdev, modify the Git configuration.

B. From ADFdev, create a linked service.

C. From Azure DevOps, create a release pipeline.
D. From Azure DevOps, update the main branch.

Answer: C

Explanation:

In Azure Data Factory, continuous integration and delivery (CI/CD) means moving Data Factory pipelines from one environment (development, test, production) to
another.

Note:

The following is a guide for setting up an Azure Pipelines release that automates the deployment of a data factory to multiple environments.

> In Azure DevOps, open the project that's configured with your data factory.

> On the left side of the page, select Pipelines, and then select Releases.

> Select New pipeline, or, if you have existing pipelines, select New and then New release pipeline.
> In the Stage name box, enter the name of your environment.

> Select Add artifact, and then select the git repository configured with your development data factory.
Select the publish branch of the repository for the Default branch. By default, this publish branch is adf_publish.

> Select the Empty job template.
Reference:
https://docs.microsoft.com/en-us/azure/data-factory/continuous-integration-deployment

NEW QUESTION 214

- (Exam Topic 3)

You have an enterprise data warehouse in Azure Synapse Analytics named DW1 on a server named Serverl. You need to verify whether the size of the
transaction log file for each distribution of DW1 is smaller than 160 GB.

What should you do?

A. On the master database, execute a query against the sys.dm_pdw_nodes_os_performance_counters dynamic management view.
B. From Azure Monitor in the Azure portal, execute a query against the logs of DW1.

C. On DW1, execute a query against the sys.database_files dynamic management view.

D. Execute a query against the logs of DW1 by using theGet-AzOperationallnsightSearchResult PowerShell cmdlet.

Answer: A
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Explanation:

The following query returns the transaction log size on each distribution. If one of the log files is reaching 160 GB, you should consider scaling up your instance or
limiting your transaction size.

-- Transaction log size SELECT

instance_name as distribution_db, cntr_value*1.0/1048576 as log_file_size_used_GB, pdw_node_id

FROM sys.dm_pdw_nodes_os_performance_counters WHERE

instance_name like 'Distribution_%'

AND counter_name = 'Log File(s) Used Size (KB)' References:

https://docs.microsoft.com/en-us/azure/sql-data-warehouse/sql-data-warehouse-manage-monitor

NEW QUESTION 218
- (Exam Topic 3)
You have an Azure Synapse Analytics dedicated SQL pool.
You need to create a table named FactinternetSales that will be a large fact table in a dimensional model. FactinternetSales will contain 100 million rows and two
columns named SalesAmount and OrderQuantity. Queries executed on FactinternetSales will aggregate the values in SalesAmount and OrderQuantity from the
last year for a specific product. The solution must minimize the data size and query execution time.
How should you complete the code? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.
Answer Area
CREATE TABLE [dbo].|[FactInternetSales)
( '. Produc 'I!i'.ey'] int MOT MNULL
; [OrderDatekKey] int NOT MNULL
» [Customerkey] int NOT N
[PromotionKey] int MOT MULL
» [SalesOrderNumber] nvarchar(28) NOT MULL
s [OrderQuantity] smallint NOT HUL
[UnitPrice] money HOT MULL

s [SalesAmount] money NOT N

WITH

{ CLUSTERED COLUMMNSTORE INDEX
{ CLUSTERED INDEX ([OrderDateKey])
{ HEAP

{ INDEX on [ProductkKey]

s DISTRIBUTION =

Hash{[OrderDatekey])
)i Hash({[Productkey])

REPLICATE

ROUND ROBIN

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Box 1: (CLUSTERED COLUMNSTORE INDEX CLUSTERED COLUMNSTORE INDEX

Columnstore indexes are the standard for storing and querying large data warehousing fact tables. This index uses column-based data storage and query
processing to achieve gains up to 10 times the query performance in your data warehouse over traditional row-oriented storage. You can also achieve gains up to
10 times the data

compression over the uncompressed data size. Beginning with SQL Server 2016 (13.x) SP1, columnstore indexes enable operational analytics: the ability to run
performant real-time analytics on a transactional workload.

Note: Clustered columnstore index

A clustered columnstore index is the physical storage for the entire table. Diagram Description automatically generated
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Clustered Columnstore Index - Physical Storage

Columnstore

b Compressed column segments

— Rows in the index, but
- - not in the columnstore

+ Deltastore

To reduce fragmentation of the column segments and improve performance, the columnstore index might store some data temporarily into a clustered index called
a deltastore and a B-tree list of IDs for deleted rows. The deltastore operations are handled behind the scenes. To return the correct query results, the clustered
columnstore index combines query results from both the columnstore and the deltastore.

Box 2: HASH([ProductKey])

A hash distributed table distributes rows based on the value in the distribution column. A hash distributed table is designed to achieve high performance for queries
on large tables.

Choose a distribution column with data that distributes evenly

Reference: https://docs.microsoft.com/en-us/sql/relational-databases/indexes/columnstore-indexes-overview https://docs.microsoft.com/en-us/azure/synapse-
analytics/sql-data-warehouse/sql-data-warehouse-tables-overvie https://docs.microsoft.com/en-us/azure/synapse-analytics/sql-data-warehouse/sql-data-
warehouse-tables-distribu

NEW QUESTION 220

- (Exam Topic 3)

You have an Azure Databricks resource.

You need to log actions that relate to changes in compute for the Databricks resource. Which Databricks services should you log?

A. clusters

B. workspace
C. DBFS

D. SSHE lobs

Answer: B

Explanation:

Cloud Provider Infrastructure Logs.Databricks logging allows security and admin teams to demonstrate conformance to data governance standards within or from
a Databricks workspace. Customers, especially in the regulated industries, also need records on activities like:— User access control to cloud data storage— Cloud
Identity and Access Management roles— User access to cloud network and compute

Azure Databricks offers three distinct workloads on several VM Instances tailored for your data analytics workflow—the Jobs Compute and Jobs Light Compute
workloads make it easy for data engineers to build and execute jobs, and the All-Purpose Compute workload makes it easy for data scientists to explore, visualize,
manipulate, and share data and insights interactively.

NEW QUESTION 221

- (Exam Topic 3)

You need to design a solution that will process streaming data from an Azure Event Hub and output the data to Azure Data Lake Storage. The solution must
ensure that analysts can interactively query the streaming data.

What should you use?

A. event triggers in Azure Data Factory

B. Azure Stream Analytics and Azure Synapse notebooks

C. Structured Streaming in Azure Databricks

D. Azure Queue storage and read-access geo-redundant storage (RA-GRS)

Answer: C

Explanation:

Apache Spark Structured Streaming is a fast, scalable, and fault-tolerant stream processing API. You can use it to perform analytics on your streaming data in
near real-time.

With Structured Streaming, you can use SQL queries to process streaming data in the same way that you would process static data.

Azure Event Hubs is a scalable real-time data ingestion service that processes millions of data in a matter of seconds. It can receive large amounts of data from
multiple sources and stream the prepared data to Azure Data Lake or Azure Blob storage.

Azure Event Hubs can be integrated with Spark Structured Streaming to perform the processing of messages in near real-time. You can query and analyze the
processed data as it comes by using a Structured Streaming query and Spark SQL.

Reference:

https://k21academy.com/microsoft-azure/data-engineer/structured-streaming-with-azure-event-hubs/

NEW QUESTION 223
- (Exam Topic 3)
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You have an Azure Synapse Analytics dedicated SQL pool that contains a table named Tablel. You have files that are ingested and loaded into an Azure Data
Lake Storage Gen2 container named

containerl.

You plan to insert data from the files into Tablel and azure Data Lake Storage Gen2 container named containerl.

You plan to insert data from the files into Tablel and transform the data. Each row of data in the files will produce one row in the serving layer of Tablel.

You need to ensure that when the source data files are loaded to containerl, the DateTime is stored as an additional column in Tablel.

Solution: You use a dedicated SQL pool to create an external table that has a additional DateTime column. Does this meet the goal?

A. Yes
B. No

Answer: A

NEW QUESTION 224

- (Exam Topic 3)

You have an Azure Synapse Analytics dedicated SQL pool that contains a table named Tablel. You have files that are ingested and loaded into an Azure Data
Lake Storage Gen2 container named

containerl.

You plan to insert data from the files into Table1l and azure Data Lake Storage Gen2 container named containerl.

You plan to insert data from the files into Tablel and transform the data. Each row of data in the files will produce one row in the serving layer of Tablel.

You need to ensure that when the source data files are loaded to containerl, the DateTime is stored as an additional column in Tablel.

Solution: In an Azure Synapse Analytics pipeline, you use a Get Metadata activity that retrieves the DateTime of the files.

Does this meet the goal?

A. Yes
B. No

Answer: B
Explanation:

Instead use a serverless SQL pool to create an external table with the extra column. Reference:
https://docs.microsoft.com/en-us/azure/synapse-analytics/sql/create-use-external-tables

NEW QUESTION 225
- (Exam Topic 3)
You store files in an Azure Data Lake Storage Gen2 container. The container has the storage policy shown in the following exhibit.

Use the drop-down menus to select the answer choice that completes each statement based on the information presented in the graphic.
NOTE: Each correct selection Is worth one point.
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The files are [answer choice] after 30 days: A 4

deleted from the container
moved to archive storage
moved to cool storage
moved to hot storage

The storage pelicy applies to [answer choice]: !

| containerl/contoso.csv
containerl/docs/contoso.json
containerl/mycontoso/contoso.csv

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Graphical user interface, text, application Description automatically generated

Box 1: moved to cool storage

The ManagementPolicyBaseBlob.TierToCool property gets or sets the function to tier blobs to cool storage. Support blobs currently at Hot tier.

Box 2: containerl/contoso.csv As defined by prefixMatch.

prefixMatch: An array of strings for prefixes to be matched. Each rule can define up to 10 case-senstive prefixes. A prefix string must start with a container name.
Reference:

https://docs.microsoft.com/en-us/dotnet/api/microsoft.azure.management.storage.fluent. models.managementpoli

NEW QUESTION 230

- (Exam Topic 3)

You have an Azure Data Lake Storage account that contains a staging zone.

You need to design a daily process to ingest incremental data from the staging zone, transform the data by executing an R script, and then insert the transformed
data into a data warehouse in Azure Synapse Analytics.

Solution: You use an Azure Data Factory schedule trigger to execute a pipeline that executes mapping data Flow, and then inserts the data info the data
warehouse.

Does this meet the goal?

A. Yes
B. No

Answer: B

Explanation:

If you need to transform data in a way that is not supported by Data Factory, you can create a custom activity, not a mapping flow,5 with your own data processing
logic and use the activity in the pipeline. You can create a custom activity to run R scripts on your HDInsight cluster with R installed.

Reference:

https://docs.microsoft.com/en-US/azure/data-factory/transform-data

NEW QUESTION 231

- (Exam Topic 3)

You plan to implement an Azure Data Lake Gen2 storage account.

You need to ensure that the data lake will remain available if a data center fails in the primary Azure region. The solution must minimize costs.
Which type of replication should you use for the storage account?

A. geo-redundant storage (GRS)

B. zone-redundant storage (ZRS)

C. locally-redundant storage (LRS)

D. geo-zone-redundant storage (GZRS)

Answer: C

Explanation:

Locally redundant storage (LRS) copies your data synchronously three times within a single physical location in the primary region. LRS is the least expensive
replication option Reference:

https://docs.microsoft.com/en-us/azure/storage/common/storage-redundancy

NEW QUESTION 235

- (Exam Topic 3)

You are designing an application that will store petabytes of medical imaging data

When the data is first created, the data will be accessed frequently during the first week. After one month, the data must be accessible within 30 seconds, but files
will be accessed infrequently. After one year, the data will be accessed infrequently but must be accessible within five minutes.

You need to select a storage strategy for the data. The solution must minimize costs.

Which storage tier should you use for each time frame? To answer, select the appropriate options in the answer area.

NOTE: Each correct selection is worth one point.
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First week: v
Archive

Cool

Hot

After one month v

Archive
Cool

Hot

After one vear v
Archrve

Cool

Hot

A. Mastered
B. Not Mastered

Answer: A

Explanation:

First week: Hot

Hot - Optimized for storing data that is accessed frequently. After one month: Cool

Cool - Optimized for storing data that is infrequently accessed and stored for at least 30 days.
After one year: Cool

NEW QUESTION 236

- (Exam Topic 3)

You have an Azure Synapse Analytics job that uses Scala. You need to view the status of the job.
What should you do?

A. From Azure Monitor, run a Kusto query against the AzureDiagnostics table.

B. From Azure Monitor, run a Kusto query against the SparkLogyingl Event.CL table.
C. From Synapse Studio, select the workspac

D. From Monitor, select Apache Sparks applications.

E. From Synapse Studio, select the workspac

F. From Monitor, select SQL requests.

Answer: C

Explanation:

Use Synapse Studio to monitor your Apache Spark applications. To monitor running Apache Spark application Open Monitor, then select Apache Spark
applications. To view the details about the Apache Spark applications that are running, select the submitting Apache Spark application and view the details. If the
Apache Spark application is still running, you can monitor the progress.

Reference:

https://docs.microsoft.com/en-us/azure/synapse-analytics/monitoring/apache-spark-applications

NEW QUESTION 239

- (Exam Topic 3)

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some question sets might have more than one correct solution, while others might not have a correct solution.

After you answer a question in this section, you will NOT be able to return to it. As a result, these

guestions will not appear in the review screen.

You plan to create an Azure Databricks workspace that has a tiered structure. The workspace will contain the following three workloads:

> A workload for data engineers who will use Python and SQL.
> A workload for jobs that will run notebooks that use Python, Scala, and SOL.

> A workload that data scientists will use to perform ad hoc analysis in Scala and R.
The enterprise architecture team at your company identifies the following standards for Databricks environments:

> The data engineers must share a cluster.

> The job cluster will be managed by using a request process whereby data scientists and data engineers provide packaged notebooks for deployment to the
cluster.

> All the data scientists must be assigned their own cluster that terminates automatically after 120 minutes of inactivity. Currently, there are three data scientists.
You need to create the Databricks clusters for the workloads.

Solution: You create a Standard cluster for each data scientist, a High Concurrency cluster for the data engineers, and a High Concurrency cluster for the jobs.
Does this meet the goal?

A. Yes
B. No

Answer: A

Explanation:
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We need a High Concurrency cluster for the data engineers and the jobs. Note:

Standard clusters are recommended for a single user. Standard can run workloads developed in any language: Python, R, Scala, and SQL.

A high concurrency cluster is a managed cloud resource. The key benefits of high concurrency clusters are that they provide Apache Spark-native fine-grained
sharing for maximum resource utilization and minimum query latencies.

Reference:

https://docs.azuredatabricks.net/clusters/configure.html

NEW QUESTION 243

- (Exam Topic 3)

You have two Azure Storage accounts hamed Storagel and Storage2. Each account holds one container and has the hierarchical namespace enabled. The
system has files that contain data stored in the Apache Parquet format.

You need to copy folders and files from Storagel to Storage2 by using a Data Factory copy activity. The solution must meet the following requirements:

> No transformations must be performed.
> The original folder structure must be retained.

> Minimize time required to perform the copy activity.
How should you configure the copy activity? To answer, select the appropriate options in the answer area.
NOTE: Each correct selection is worth one point.

Source dataset type v
Binary

Parquet
Delimited text

Copy activity copy behavior v
FlattenHierarchy
MergeFiles
PreserveHierarchy

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Graphical user interface, text, application, chat or text message Description automatically generated

Box 1: Parquet

For Parquet datasets, the type property of the copy activity source must be set to ParquetSource. Box 2: PreserveHierarchy

PreserveHierarchy (default): Preserves the file hierarchy in the target folder. The relative path of the source file to the source folder is identical to the relative path
of the target file to the target folder.

Reference:

https://docs.microsoft.com/en-us/azure/data-factory/format-parquet https://docs.microsoft.com/en-us/azure/data-factory/connector-azure-data-lake-storage

NEW QUESTION 244
- (Exam Topic 3)
You need to build a solution to ensure that users can query specific files in an Azure Data Lake Storage Gen2 account from an Azure Synapse Analytics

serverless SQL pool.
Which three actions should you perform in sequence? To answer, move the appropriate actions from the list of actions to the answer area and arrange them in the

correct order.
NOTE: More than one order of answer choices is correct. You will receive credit for any of the correct orders you select.

Actions Answer Area

Create an external file format object

Create an external data source

Create a query that uses Create Table as Select

Create a table

Create an external table

A. Mastered
B. Not Mastered

Answer: A
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Explanation:

Graphical user interface, text, application, email Description automatically generated
Step 1: Create an external data source

You can create external tables in Synapse SQL pools via the following steps:

> CREATE EXTERNAL DATA SOURCE to reference an external Azure storage and specify the credential that should be used to access the storage.
> CREATE EXTERNAL FILE FORMAT to describe format of CSV or Parquet files.

> CREATE EXTERNAL TABLE on top of the files placed on the data source with the same file format. Step 2: Create an external file format object
Creating an external file format is a prerequisite for creating an external table. Step 3: Create an external table

Reference:

https://docs.microsoft.com/en-us/azure/synapse-analytics/sqgl/develop-tables-external-tables

NEW QUESTION 249
- (Exam Topic 3)
You have an Azure data factory.
You need to ensure that pipeline-run data is retained for 120 days. The solution must ensure that you can query the data by using the Kusto query language.
Which four actions should you perform in sequence? To answer, move the appropriate actions from the list of actions to the answer area and arrange them in the
correct order.
NOTE: More than one order of answer choices is correct. You will receive credit for any of the correct orders you select.
Actions Answer Area

Select the PipelineRuns category

Create a Log Analytics workspace that
has Data Retention set to 120 days
Stream 1o an Azure event hub

Create an Azure Storage account that
has a lifecycle policy

From the Azure portal, add a

dia gnostic setting.

Send the data to a Log Analytics

workspace

Select the TriggerRuns category
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Step 1: Create an Azure Storage account that has a lifecycle policy

To automate common data management tasks, Microsoft created a solution based on Azure Data Factory. The service, Data Lifecycle Management, makes
frequently accessed data available and archives or purges other data according to retention policies. Teams across the company use the service to reduce storage
costs, improve app performance, and comply with data retention policies.

Step 2: Create a Log Analytics workspace that has Data Retention set to 120 days.

Data Factory stores pipeline-run data for only 45 days. Use Azure Monitor if you want to keep that data for a longer time. With Monitor, you can route diagnostic
logs for analysis to multiple different targets, such as a Storage Account: Save your diagnostic logs to a storage account for auditing or manual inspection. You can
use the diagnostic settings to specify the retention time in days.

Step 3: From Azure Portal, add a diagnostic setting. Step 4: Send the data to a log Analytics workspace,

Event Hub: A pipeline that transfers events from services to Azure Data Explorer. Keeping Azure Data Factory metrics and pipeline-run data.

Configure diagnostic settings and workspace.

Create or add diagnostic settings for your data factory.

> In the portal, go to Monitor. Select Settings > Diagnostic settings.

> Select the data factory for which you want to set a diagnostic setting.

> If no settings exist on the selected data factory, you're prompted to create a setting. Select Turn on diagnostics.

> Give your setting a name, select Send to Log Analytics, and then select a workspace from Log Analytics Workspace.

> Select Save. Reference:
https://docs.microsoft.com/en-us/azure/data-factory/monitor-using-azure-monitor

NEW QUESTION 254

- (Exam Topic 3)

You have an enterprise data warehouse in Azure Synapse Analytics.

Using PolyBase, you create an external table named [Ext].[ltems] to query Parquet files stored in Azure Data Lake Storage Gen2 without importing the data to the
data warehouse.

The external table has three columns.

You discover that the Parquet files have a fourth column named ItemID.

Which command should you run to add the ItemID column to the external table?
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A ATTER EXTERNAL TABLE [Ext].[Items
ADD [ItemID] int:

ot

B. DROP EXTERNAL FILE FORMAT pargueatfi

filal:

CREATE EXTERNAL FILE FORMAT parcuetfilel
WITH (

FORMAT TYPE = PARQUET,

DATA COMPRESSION = ‘org.apache.hadoop.io.compress.SnappyCodec’
)i

C. DROP EXTERNAL TABLE [Ext] . [Items]

CREATE EXTERNAL TAELE [Ext].[Items]
([TtemID] [int] NULIL,

[ItemName] nvarchar (50) NULL,
[ItemType] nvarchar (20) NULL,
[ItemDescription] nvarchar (250))

ST
T.'i —

L
LOCATION= ‘/Items/',
DATA SOURCE = AzureDataLakeStore,
FILE FORMAT = PARQUET,
REJECT TYPE = VALUE,
REJECT VALUE = O
} 2
D. AT TER TABLE [Ext].[Items]
ADD [ItemID] int:
A. Option A
B. Option B
C. Option C
D. Option D
Answer: C
Explanation:

https://docs.microsoft.com/en-us/sql/t-sql/statements/create-external-table-transact-sql

NEW QUESTION 256

- (Exam Topic 3)

You have an Azure subscription that contains an Azure Data Lake Storage Gen2 account named storagel. Storagel contains a container named containerl.
Containerl contains a directory named directoryl. Directoryl contains a file named filel.

You have an Azure Active Directory (Azure AD) user named Userl that is assigned the Storage Blob Data Reader role for storagel.

You need to ensure that Userl can append data to filel. The solution must use the principle of least privilege. Which permissions should you grant? To answer,
drag the appropriate permissions to the correct resources.

Each permission may be used once, more than once, or not at all. You may need to drag the split bar between

panes or scroll to view content.

Permissions Answer Area
Read container1: Permission
Write directory1: Permission
Execute file1: Permission
A. Mastered

B. Not Mastered
Answer: A

Explanation:

Box 1: Execute

If you are granting permissions by using only ACLs (no Azure RBAC), then to grant a security principal read or write access to a file, you'll need to give the security
principal Execute permissions to the root folder of the container, and to each folder in the hierarchy of folders that lead to the file.

Box 2: Execute

On Directory: Execute (X): Required to traverse the child items of a directory Box 3: Write

On file: Write (W): Can write or append to a file. Reference:

https://docs.microsoft.com/en-us/azure/storage/blobs/data-lake-storage-access-control
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NEW QUESTION 260
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